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6HJDOD� SXML� EDJL� $OODK� 6:7��� 3HQFLSWD� GDQ� 3HPHOLKDUD� DODP� VHPHVWD��

VKDODZDW�VHUWD�VDODP�VHPRJD�WHUOLPSDK�EDJL�0XKDPPDG�6$:���NHOXDUJD�GDQ�SDUD�

SHQJLNXWQ\D�\DQJ�VHWLD�KLQJJD�DNKLU�PDVD�

$WDV� UDKPDW� $OODK� 6:7��� DNKLUQ\D� 3HQXOLV� GDSDW� PHQ\HOHVDLNDQ� 7XJDV�

$NKLU LQL GHQJDQ� MXGXO� �� ³3HQMDGZDODQ� 0HVLQ� .RSL� 2WRPDWLV� %HUEDVLV�

$QGURLG´� 3DGD�SHQ\XVXQDQ�7XJDV�$NKLU�LQL�VXGDK�MHODV�WLGDN�VHPDWD�PDWD�KDVLO�

NHUMD�SHQXOLV�VHQGLUL��PHODLQNDQ�MXJD�EHUNDW�ELPELQJDQ�GDQ�GRURQJDQ�GDUL�SLKDN�

SLKDN�\DQJ�WHODK�PHPEDQWX��EDLN�VHFDUD�PDWHUL�PDXSXQ�VHFDUD�QRQ�PDWHUL�

'DODP� SHQXOLVDQ� 7XJDV� $NKLU� LQL�� SHQXOLV� MXJD� PHQGDSDWNDQ� EDQ\DN�

EDQWXDQ�GDUL�EHUEDJDL�SLKDN��0HODOXL�NHVHPSDWDQ�LQL�SHQXOLV�PHQ\DPSDLNDQ�XFDSDQ�

WHULPD�NDVLK�GDQ�SHQJKDUJDDQ�\DQJ�VHWLQJJL�WLQJJLQ\D�NHSDGD�

�� $\DKDQGD� 3XUZDGL� GDQ� ,EXQGD� 7XWW\� +LGD\DW�� DWDV� GRD� \DQJ� VHODOX�

VHQDQWLDVD� GLSDQMDWNDQ� GHQJDQ� SHQXK� NHVDEDUDQ� GDQ� LNKODV��PHPEHUL�

GRURQJDQ� QDVLKDW� VDDW� NKDZDWLU�� GDQ� PHPEHUL� VHPDQJDW� \DQJ� WLDGD�

KHQWLQ\D�EDLN�VHFDUD�PRULO�GDQ�PDWHULO�

�� <WK�� %DSDN� 'U�� ,U�� (GG\� 6XU\DQWR� 6RHJRWR�� 0�� 6F� VHODNX� 5HNWRU�

8QLYHUVLWDV�.RPSXWHU�,QGRQHVLD�

�� <WK�� %DSDN 'U��:HQGL� =DUPDQ��0�� 6L� VHODNX� .HWXD� -XUXVDQ� 7HNQLN�

.RPSXWHU��

�� <WK�� %DSDN� $JXV� 0XO\DQD�� 0�� 7� VHODNX� GRVHQ� ZDOL� NHODV� 7.����

DQJNDWDQ������

�� <WK�� %DSDN� 6XWRQR�� 0�� .RP� VHODNX� GRVHQ� SHPELPELQJ \DQJ� WHODK�

PHOXDQJNDQ�ZDNWX�GDQ�VDEDU�GDODP�PHPEHUL�ELPELQJDQ�NHSDGD�SHQXOLV�

GDODP�PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL�

�� %DSDN�GDQ�,EX�'RVHQ�-XUXVDQ�7HNQLN�.RPSXWHU�

�� -DMDUDQ�6WDI�-XUXVDQ�7HNQLN�.RPSXWHU�



YL

6HODLQ� LWX� WLGDN� OXSD� VD\D� XFDSNDQ� WHULPD� NDVLK� \DQJ� VHWXOXV�WXOXVQ\D� GDQ�

SHQJKDUJDDQ�\DQJ�VHWLQJJL�WLQJJLQ\D�NHSDGD�

�� $GLN� WHUFLQWD�<WK��0XKDPPDG�6\DKGLOOD�$WPDMD\D�GDQ�<XGKLVWLUD�$XOLD�

&KDQGUD�\DQJ�VHODOX�PHQJKLEXU�NHWLND�GLDQWDUD�NHNKDZDWLUDQ�

�� 6DKDEDW� WHUFLQWD <WK�� $GK\WLR� 1XJURKR�� 'HFN\� 6DQMD\D� GDQ� 5DPGKDQ�

$UGLDQV\DK� 5DFKPDQ� \DQJ� VHODOX PHQJKLEXU� GDQ PHPEHULNDQ� VHPDQJDW�

GDQ�PRWLYDVL�

�� 7HPDQ� VHSHUMXDQJDQ� <WK�� :DQGL� +HUQDGL� \DQJ� VHODOX� PHPEDQWX� GDQ�

PHQHPDQL�VHODPD�PDVD�SHUNXOLDKDQ�GDUL�DZDO�KLQJJD�DNKLU�

�� .DZDQ ODPD�<WK��7DXIDQ�%XGL�3UD\RJR�\DQJ�VHODOX�PHPEHULNDQ�VDUDQ�GDQ�

NRQVXOWDVL�VHODPD�SURVHV�SHQJHUMDDQ�WXJDV�DNKLU�LQL�

�� .HOXDUJD�EHVDU %DSDN +��5XKLDW�+LGD\DW� \DQJ� VHODOX�PHPEHUL�GRURQJDQ�

VHPDQJDW�VHWLDS�VDDW�GDQ�GXNXQJDQ�GRD�\DQJ�VHODOX�GLSDQMDWNDQ�

�� 6HPXD� SLKDN� \DQJ� WHODK�PHPEDQWX� GDODP�PHQ\HOHVDLNDQ� WXJDV� DNKLU� LQL�

\DQJ�WLGDN�ELVD�GLVHEXWNDQ�VDWX�SHUVDWX�

$NKLU�NDWD�SHQXOLV�EHUKDUDS�VHPRJD�SHQHOLWLDQ�LQL�PHQMDGL�VXPEDQJVLK�\DQJ�

EHUPDQIDDW� EDJL� GXQLD� VDLQV� GDQ� WHNQRORJL� GL� ,QGRQHVLD�� NKXVXVQ\D� GLVLSOLQ�

NHLOPXDQ�\DQJ�3HQXOLV�GDODPL�

%DQGXQJ� )HEUXDUL ����

3HQXOLV

$QGKLND�3XWUD�3XUZDGL


